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The flgures ln the margln lndlcate
full ,mdrks for the questlons.

1.

Answer ang flae qluestions. '

'( )(a) Prove that L = t0"1" I n >Ll is
regular.

(b) Define € closure of a state

example. Prove that Q +RP - QP*
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2. (a) Write regular expressions
following :

(t) Binary members that are
of 2.



3.

(b)

(c)

(a)

(b)

@ Strings of a's and b's with no
consecutive a's

@ Strings of a's and b's containing
consecutive a's.

Constmct a finite state machine that
accepts exactly those input strings of
0's and l's that ends with 1 1. 5

Design FA which accepts even number
of 0's and even member of 1's. 5

Find L(G) for CFG

S + aSblAb, A+bAa, A->ba 5
i

Convert an NFA to a DFA grven NFA

M - (z,Q,s, qo,F), t= {0, U,

Q = {qo, Qt, Qz,Qs}, F - {qo }

s9.t
eo {qo} {qo,eJ
et {grl {qr}
ez {qr} {qr}

10

(c) Convert the
GIVF form
B ->bAb

s3 (rr so3) rHcP lG

following grammar G in
S-+ ABbla, A->aMlB,

?)
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4. (a) Show that id" + id * id. can be generatJa
by two distinct leftmost derivation in
the grammar

E -> E + ElE,r Bl (E)lid

(b) Let G - (,1v, T,P,s),

P - {S - ALBla, A->OAle, B ->OBl 1^Bl.}

Give a leftmost and rightmost derivation
for the string 00 lO | . 5

(c) Construct a minimum state automaton
equivalent to the following transition
system. 10

State Input

Qo
q2

Qs

Qo

Qo

Qt

Qt

Define Rrshdown
the different
acceptances by a

Automaton. What are
ways of language
PDA and define them.

2+3-5

Qo

QL'
qh

Qs

Q+

Qs

@

Qs

Qs

Q+

Qs

Qo

Q+

Qs

5. (a)

s3 (rT s03) THCP/G Contd.



:

(b) Convert the given expression to PDA
.l' I -> albllollbl /ol/1 s

(c) Which is more powerful NFA or PDA
Justify your ansru/er with example.

State the pumping,lemma for CFZ's.
5

?

5

(d,)

6. Write short notes on :

(a) Chomsky Hierarchy
I(b) Context Sensitive Langtrage

(c) Turing Machine

(d.) Mealy and Moore ivlachine.
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